	Revelry Event Designers		111-0005000
K	3604 Medford St. Los Angeles, CA 90063 (323) 263-1657		Detailed Touch Events
04/21/2023 07:0	00 AM TBD Install Ballroom	P0:	Invoice Date:
04/22/2023 07:0 Areas	00 AM TBD Install Lawn	Shipping Address: Rosewood Miramar	Due Date: Upon Receipt
	0 PM Event Date	Santa Barbara	Salesperson: Angela Murelli
	00 PM Strike Lawn Areas 00 AM Strike Ballroom		

Description		Qtty	Price		Total
Friday April 21s	t Welcome Party				
	Hedge Bar 12'D Round - Glass Top	1	\$3,000.00	Т	\$3,000.00
	Boston Round Backbar - Painted Black	1	\$300.00	Т	\$300.00
	Siena Dining Table Round 72"D	9	\$550.00	Т	\$4,950.00
	Siena Dining Table Rectangle 8' x 48"D	4	\$550.00	Т	\$2,200.00
	Oversize Props - Monstera Leaf Stand Oversize Props - Monstera Leaf - Curved TBD Color	5	\$850.00	Т	\$4,250.00
	Oversize Props - Palm Leaves TBD Color	4	\$1,250.00	Т	\$5,000.00
	Hedge DJ Facade Booth w. Table	1	\$450.00	Т	\$450.00
	Sofas - Lisbon Yellow Velvet	1	\$450.00	T	\$450.00
	Sofas - Lisbon Teal Velvet	1	\$450.00	т	\$450.00
	Sofas - Lisbon Orange Velvet	1	\$450.00	Т	\$450.00

IN-0005606

Description		Qtty	Price		Total
-	Lisbon Side Chair Orange Velvet	2	\$225.00	Т	\$450.00
	Lisbon Club Chair Orange Velvet	2	\$275.00	Т	\$550.00
	Lisbon Club Chair Yellow Velvet	2	\$275.00	Т	\$550.00
	Lisbon Side Chair Yellow Velvet	2	\$225.00	Т	\$450.00
F	Lisbon Club Chair Teal Velvet	2	\$275.00	Т	\$550.00
		Total Friday April	21st Welcome Pa	arty	\$24,050.00
Saturday April 2	2nd - Cocktails Lawn				
	Boston Round Bar 12'D - HALF ONLY TBD Color Paired with two straight sections to create a "U" shape bar	1	\$1,600.00	Т	\$1,600.00
	London Bar 6'L - TBD Color Paired with round bar sections to create a "U" shape bar	2	\$950.00	Т	\$1,900.00
	Boston Bar Room - TBD Color 122" X 86" X 93" H To create a facade of a "Bell Hop" for Escort Cards	1	\$5,350.00	Т	\$5,350.00
	Palermo Club Chair White	8	\$250.00	Т	\$2,000.00
K	Florence Club Chair White	4	\$225.00	Т	\$900.00
A manufacture of the	Palermo Sofa - White 6'	2	\$400.00	Т	\$800.00
	Palermo Sofa - White 8'	4	\$450.00	Т	\$1,800.00
	Paris Coffee Table - Gold Frame	6	\$225.00	Т	\$1,350.00

Description		Qtty	Price		Total
	Aspen Dining Chair - White Wood w, White Linen	16	\$25.00	Т	\$400.00

		Total Saturday April 22	nd - Cocktails L	awn	\$16,100.00
Saturday April 2	2nd - Interior Study				
	Perimeter Drape - NAVY Velvet	1	\$750.00	Т	\$750.00
	OPTION 1: Carmel Curved Bar 6'L to create a 12'D round bar	2	\$750.00	Т	\$1,500.00
	OPTION 2: Carmel Straight Bar 10'L	1	\$850.00	Т	\$850.00
	Bora Bora Barback - Gold (3 Piece Set)	3	\$250.00	Т	\$750.00
	London Club Chair - Pony Chair Brown	2	\$250.00	Т	\$500.00
	Coffee Tables - Brussels Gold Leaf	2	\$250.00	Т	\$500.00
	Console Tables - Venice Mirrored Large	1	\$200.00	Т	\$200.00
	Palermo Club Chair - Natural	2	\$250.00	Т	\$500.00
	Sofas - Palermo Natural 8'L	1	\$450.00	Т	\$450.00
	Paris Coffee Table - Gold	1	\$225.00	Т	\$225.00
F	Siena Dining Chair - Whitewash Wood	12	\$25.00	Т	\$300.00
•		Total Saturday April 22nd - Interior Study		udy	\$6,525.00
Saturday April 2	2nd - Wedding Lawn				
	Round Booth Champagne Velvet (2pcs)	12	\$675.00	Т	\$8,100.00

Description		Qtty	Price		Total
	Straight Banquette Pasadena Ivory 6'L	8	\$400.00	Т	\$3,200.00
	Custom Cover - Straight Banquette in matching champagne to the round booths	8	\$450.00	Т	\$3,600.00
	Naples Barback - Gold Leaf	3	\$200.00	Т	\$600.00
	Custom Stage Front - TBD Stage Front TBD Design 8'L x 24"H each section	1	\$0.00	Т	\$0.00
	Total Sat	urday April 22	2nd - Wedding La	wn	\$15,500.00
Saturday April 2	2nd - Ballroom				
	Custom Escort Card Wall 16'W x 10'H TBD Design	1	\$3,500.00	Т	\$3,500.00
	Hallway Perimeter Drape - Champagne Vevet	1	\$9,400.00	Т	\$9,400.00
	Hallway Perimeter Valance - Champagne Dupioni	1	\$2,050.00	Т	\$2,050.00
	Ballroom Perimeter Drape - Champagne Velvet	1	\$13,800.00	Т	\$13,800.00
	Ballroom Perimeter Valance - Champagne Dupioni	1	\$2,250.00	Т	\$2,250.00
	Tuscany Panel w. Antique Mirror - TBD Color 4'W X 13'H to create stage backdrop	7	\$715.00	Т	\$5,005.00
	Beverly Hills Sofa - Taupe W/ Silver Legs	4	\$400.00	Т	\$1,600.00
	Hollywood Accent Chair Taupe	4	\$225.00	Т	\$900.00
	Hollywood Club Chair Taupe W/ Gold Frame	4	\$250.00	Т	\$1,000.00
	Ottomans - Hollywood Taupe w. Gold Base	10	\$75.00	Т	\$750.00
Marine Marine	Boston Lounge Booth - Taupe Velvet (4pcs)	4	\$715.00	Т	\$2,860.00
	Hollywood Coffee Table - Zig Zag Gold Base ROUND GLASS TOP 48"D	6	\$275.00	Т	\$1,650.00

Description		Qtty	Price		Total
	Moscow Coffee Table - Gold w. Mirror	4	\$250.00	Т	\$1,000.00
	Madrid Coffee Table (3pcs) - Gold w. Marble	4	\$250.00	Т	\$1,000.00
A	Accent Table - Madrid Fuji Marble Top	3	\$100.00	Т	\$300.00
Ţ	Accent Table - Madrid Giusti Marble Top	4	\$100.00	Т	\$400.00
	London Bar 6'L - TBD Color	2	\$850.00	Т	\$1,700.00
	London Bar 8'L - TBD Color	4	\$950.00	Т	\$3,800.00
	Accent Pillows	85	\$30.00	Т	\$2,550.00
	-	Total Saturday Ap	oril 22nd - Ballro	om	\$55,515.00
Saturday April 2	2nd Outer Patio				
B	Beverly Hills Club Chair Taupe w. Gold Legs	4	\$250.00	Т	\$1,000.00
AT	Tokyo Accent Chair White w. Gold	15	\$95.00	Т	\$1,425.00
	Frankfurt Coffee Table - Smokey Glass Top w. Gold Frame	1	\$275.00	Т	\$275.00
	Ottoman Pod 18"D	12	\$50.00	Т	\$600.00
	Τ	otal Saturday Api	ril 22nd Outer Pa	atio	\$3,300.00
Services					
	Additional Crew: Install & Strike Friday Event	6	\$950.00		\$5,700.00
	Additional Trucking: Friday Event	2	\$565.00		\$1,130.00
	Accommodations: Hotel Room Friday Event	3	\$400.00		\$1,200.00
	Accommodations: Perdiem for Additional Crew Frida	ay 6	\$72.00		\$432.00
		ay 6 10	\$72.00 \$550.00		\$432.00 \$5,500.00

Description		Qtty	Price		Total
	Installers: Install Lawn Areas Saturday Morning	10	\$550.00		\$5,500.00
	Additional Crew: Strike Lawn Areas Saturday PM	6	\$750.00		\$4,500.00
	Additional Trucking: Saturday Night Strike	2	\$565.00		\$1,130.00
	Installers: Strike Main Ballroom Saturday PM	10	\$550.00		\$5,500.00
	Trucking: 24'L	4	\$500.00	Т	\$2,000.00
	Trucking: Fuel Surcharge	4	\$65.00	Т	\$260.00
	Accommodations: Hotel Rooms (2) Nights price approx until confirmed	5	\$800.00		\$4,000.00
	Accommodations: Perdiem (3) Days	10	\$216.00		\$2,160.00
	Manager: Onsite for (2) Days	1	\$1,500.00		\$1,500.00
	Manager: Hotel Room for (2) Nights	1	\$1,400.00		\$1,400.00
	Manager: Per diem	1	\$216.00		\$216.00
	Certificates: Flame Proofing	1	\$850.00		\$850.00
	Supplies: Misc	1	\$750.00		\$750.00

Please make checks payable to Revelry, Inc.	Total Products:	\$120,990.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:	\$43,728.00
Please ready the contract and sign it	Taxes :	\$11,708.75
, ,	Discounts:	(\$0.00)
Notes	Total:	\$176,426.75
	Payments:	(\$1,500.00)
	Balance:	\$174,926.75